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814,210,000 814,210,000 423,897,000
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514,872,000 514,872,000 14,047,400
S REEES 507,012,000 507,012,000 13,577,400
1.4 A 55149 507,012,000 507,012,000 13,577,400
1,929 169,586,000 169,586,000 2,422,400
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i 7,860,000 7,860,000 470,000
LAMERE YT R 5,160,000 5,160,000 470,000
1AM SRR SSE 5,160,000 5,160,000 470,000
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2. 716t 55 2,700,000 2,700,000 0
1ol 2,400,000 2,400,000 0
2. 718455 300,000 300,000 0
0 18,536,000 39,435,040
drold= 0 18,536,000 39,435,040
L&AA = 0 0 20,899,040

1 uagel ¢ 2017-04-11



201681 A = A A AA

(&9 = <)
3=
o 4k o 2F& o Z At NE7) 2
3} =
[e] il
1.eAAY A= 0 0 20,899,040
TAA YL A= = 20,899,040
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o] LA} K = 18,536,000
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